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|Question Jir A B C D A | B | c ] D ‘
What is the solution set of Jx+3 =-57 ¢ {_22} {_23} {75_4} O o o O
e i S+ =5 2lils '
irrational and |lmaginary Rational and {Rational and
Roots of the equation x* —5x+5=0 are: unegual and equal equal unequal O O O O
_Lin Sl P =5x +5=0 snl- | A s e A bGPy
oy T |
Forwhat velue of x, x+13:x+7=#:57 37 17 37 Ly O O O o
13 FET=4 A L
Partia! fractions of %are of the
f : _..é._ B A Bx+ A Bt | 4 Bx
o P r+l+r’+2 x+i+,r‘+2 iz T+l .t+1+_r’+z O O O O
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[J:+i)(x’+2)
Median of the given data 12,14,24,15,19is:
S er€12,14,24,15,19 s L 2 s\ e 20T | 15 17 19 34 o O O O
What is the area of a circular sector having
central angle -i: and radius 37 T 37 9
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In a right triangle projection of perpendicular
upon base is: ; Base Ferpendicular | Hypotenuse  [Zero
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What is the length of
chord AB infercepted
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centre of circle having
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| Question

b

If two circles each of radius Sem touch
internally, the distance between their centres

is:
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What is the diameter
length of the drawn
circle?
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If circular arc subtends a central angle 40°,
then the comresponding chord subtends a

ceniral angle:
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What is the value of
x in the figure?
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What is the radius

of a circle inscribed

in a square of side

dem ?
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The shown. Venn
diagram represenis
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Simplified form of { 7+5e + 5&.}2)1 is:
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